\ AR EBHERRHEIRAT)

Shan Dong Huali Electric Motor Group CO.,LTD.
ik IWRERETREEIS

Add:No.9 Rongchang Road,Rongcheng,Shandong
B4 (P.C.): 264300

N2 (Office):0631-7551153

ZETHEIEB(Tel): 0631-7551307

Sales Dept(Tel): 0631-7551307

f&H(Fax): 0631-7553744

AR (BEB) : 0631-7587026 7587027
Department of Technology: 0631-7587026 7587027
EERSE: 0631-7555999

chnical Service(Tel):0631-7555999

1

! T 7
77>
A M[Ir/ |’1|.‘,,./‘
Wi

W

/'7

¢

<

H“‘ttp://WWW.huolimotoncom.cn

E-mgil:info@hualimotor.com.cn

Tt
/

RS BANERBISRAR T AV X
/ HuaLi Group Rongcheng New Industry District
ik IRERR T EIRMEEE9S
Add:No.89 Fu Yuan South Road,Rongcheng,Shandong
R4 (P.C.): 264300
HHOER(Tel): 0631-7551302
f&HE(Fax): 0631-7581937
Import & Export Dept (Tel): 0631-7551302
FaiiE (EX) : 0631-7527221
Department of Technology: 0631-7527221

WAREABNERAFMNEIETREA D

Shan Dong Huali Electric Motor Suzhou Manufacture CO.,LTD.
ik STHETMN X ZE L1885

Add:No.188, Taishan Road, Suzhou City, Jiangsu
B4 (P.C.):215011

AZE(Office): 0512-88186811

f&E(Fax): 0512-88186810

ZEUHHIER: 0512-88186833

Sales Dept(Tel): 0512-88186833

f&E(Fax): 0512-88186832

FFA&EB(Tel): 0512-88186834

Department of Technology:0512-88186834

HM3 &% =185 2 Bl

HM3 SERIES SUPER-PREMIUM 3-PHASE ASYNCHRONOUS MOTOR

1TE4R40 Ordering instruction:

AEARAFPESE, ARMBASTHRRERN, ITRERTHER, IJ_I PAN—
This catalogue is only a reference for users. The date may be changed, please contact us before ordering. AN j] %m% E Hﬁ{ﬁﬁ BE A a LLl ;F\ . ;-T;EE

ITERMEFEMRBETRES, MEhR, ASHER, BEMMIR, BEER, REEHERSE, SHANDONG HUALI ELECTRIC MOTOR GROUP CO. LTD.

Please type rated output, synchronous speed, voltage and frequency, insulation class, mounting type etc, when ordering.
WERKRER, EWHENNE, ETHMECHEHRMEEN,
For special requirement, please contact us, we may supply special type of motor.

2023%9R




,7

@ R R W G

GUALITY MANAGEMENT SVSTEM CERTIFICATE

R ETR A REE

e
i

g 2 A S B AL AT L 8)

TR RIEIES

IR R AR R
GRT LGS0 B0 201E

Tk i Py

Introduction

LETTT) -
WL Zd0 R gaitit, 4P a ¥ i -
RS B = : :

)

WREHBENERARMDBRATZT 19705, KEFEREAR, CRASRIH. £~ EH. kS
F—RRIIAAC R EER . AR TERAMIBIL TV, SREC TR R T K = HiERl, 4788
73120554, 20005KW, REREHTIEEIEMSTOREERILZ—,

ENEBRANERE, ERURSEWRATO, WREHIDKEENIERARFTRD, WEELUE
ERNASE, BE. REXNER, BHBARRES RN mIERS. MRS TYESRY, YE4RF, YE3
5. HMAZRFI, HM3ZEF, YBX5E&FI, YBX4&R%. YBX3ZR%I. YFBSRS. YFBAZRS. YFB3ZEF.

YBK3Z5U, YBBPZFI. YB3ZF. YVF3ZFU, YVF2ZAI, YVFEAI, YKKZRF. YKSRFIZ(EM. BiiR. % - =
A, BE as. T BE. KOASB. NETEZ)505MRK5200008MI18, BLWREH, WS i) el e
SHFBNIE R —, ATEEAHEFONIES, BIRSSNRE. IESEAR, BT TIS09001 O s L1 DL o A S

. 15014001, CCC. CQC. CE. ULZEZLHMEAT, ATTESTATION OF CONFORMITY ot m—

TEREEE  LENTRNAES ALY
Barmy LA

REREF "HRHNER. BEKMHR ARLE, HREERERREAHZRR. £2E0S AT
R CHEIVHED AT, R TRIE. SRNTZERMRSWES, FmERHEERGM. M. JEM.
FEMFA0Z P EZFMX., EIAMRRGEET B SRR T RIS,

BURTRUIES, SEHAYRAR, MREIBR, URAVRSMENARSEHANEHE, BERMEIARTARIRAA
ERIEND.  "EIEFES, WHFRmERT A ERIEESS !

2014/35/EU Low Voltage Directive.

: f34h
PE R EMER D

EER RRNRRT

Since its founding in 1970,through sustained and steady development, it is now a modern enterprise with its own
production, distribution, R &D and customer service teams. Huali has built three manufacturing enterprises: Rrongcheng
Laoshan Industrial Area, Rongcheng Industrial New Area and Suzhou Industrial Area. The annual production capacity is
1.2 million motors(20 million KW),Huali is one of the manufacturing enterprises of global motor industry with scale and
strength.

Huali group has strong technical force, established Shandong enterprise technology center and Shandong province
rare earth permanent magnet motor engineering technology research center, Build a product pattern with low-voltage
motor as support, high-voltage, low-voltage high-power and special motor as development direction. Our products
includes about 20000 varieties types in more than 50 major series. such as,YES. YE4. YE3. HM4. HM3. YBXS.
YBX4. YBX3. YFB5. YFB4. YFB3. YBK3. YBBP. YB3. YVF3. YVF2. YVF. YKK. YKS(General,
Explosion Proof, Marine, Lifting, Metallurgy, Frequency, Conversion High Voltage, Wind power generation ,Rail Transit
etc).It is one of the motor manufacturers of the global varieties and complete specifications. Our company has advanced
production testing equipment, Establish a sound quality and environmental management system. We have passed a
number of accreditation such as:ISO9001+ 1SO14001. CCC~ CQC- CE. UL etc.

The company insists on the development strategy of "Occupying the high point of science and technology,
Expand-ing the global market", and constructs two major market plates of domestic and international. Store sales branch-
es have been established in more than 50 large and medium-sized cities throughout the country, which created a highly
efficient sale and service network. The products are also sold to more than 40 countries and regions such as Europe, Asia,
Africa and America. The scale and comprehensive economic benefits of the enterprises rank in the forefront of the global
motor industry.

Innovative ideas, advanced technology, excellent quality, high quality service and the spirit of unite and endeavour
of Huali people, condensed into a continuous growth and development of the enterprise power. With such power, Huali
and tis people will make the dream that "Creating a centennial Huali, Establishing a global brand" are being come true!

01»

— o 0022537




© HM3 57 =mssann
SERIES Super-Premium 3-Phase Asynchronous Motor

HM3RFI=HHF LB FTEGB18613-2020 (EBHEEHIREEREERIZR) PMEN
=R RE. RS, FFAIEC 60034-30-1:20144RERIE3BENEFRK.

HESWEIRIT, fFEERWEFBIETIRE S DEEFENEK,

HM3ZRFBHNHNZERIFSIEC 60034tnE. BEEWEE, INEEN, BXRE, BE
€, BIFER. BEERS. K5, KARFMR, I ZNATXH. KR, PR, EEN
Mz MFRANSTERIMIRE, BEAEANE RGN, EEaMl. (I, K. ¥
FHERGRES A ER.

HM3 series three-phase asynchronous motor is in line with the third efficiency standard in the provisions of
GB18613-2020 "Minimum allowable values of energy efficiency and values of efficiency grades for motors". Mean-
while, IE3 efficiency standard is also be satisfied in the provisions of IEC 60034-30-1:2014.

Improvement on design of efficiency is in line with the state's requirements on the energy saving and consumption
reducing of the manufacturing sector.

HM3 series motors with the mounting dimension in accordance with standard IEC 60034, it has good features like,
optimum structure, attractive appearance, low noise, high efficiency, high protection class as well as high insulation class
, long service life,reliability. YE3 series motors can be widely used in various kinds of general use machineries like fans,

pumps, machine tools, compressors, transportation and so on,it has a large overload multiple, and can be used in the
hazardous areas with oil and chemical, steel plants, mining industry.

03»

N i.':'l':'éEHiﬂ HE Specification

IR

HM3RFIBTAIERTRSHIFTER
g, BEAMWRETESRMA-20°C #+40°C
1% 1000k,

* EFHFNAEL

EERIRFRELIRTT (155°C) |, =B
SZEZ(80K) , EBRINAYEREHFIAEHEEE
Rk,

* SEIFNIEIX,

INERH AR ALEHERS (TEFC). #x)
RS EMIVEERNE. 8 IEC 60034-6
FIC411 BOTE,

* (RS

EEEIHAORIRES /9 IPS5, BT lTF& 4k
IBINE. RARIEE A EKREHE SRS RRY
==

*EBHLRIP

OIHRIBERLZEPTC, PT100%5534EF04H%
MER RIS,

*EEE. SR

tREE#H9380V/50HZ  BJi&11+200-660V
SBEI{EEBERS0Hz JUEBEIH. TEHEEE
(RESUERELS5%HIER T, (HEERFIETT.

*Hxah

HM3 &5 B S ES HAHRINEE S RT
BAR, FREKES, AIIRHBREBLIL.

*FRERIE

MR EF R, BfEISO9001 [&
BANERR, FRETRERER.

LIERSESENERROBRAT

SHANDONG HUALI ELECTRIC MOTOR GROUP CO.,LTD.

Site conditions

HM3 series motors are suitable for almost all appli-
cations and operate satisfactorily at temperature from
-20°C to +40°C and altitudes up to 1000 meters above sea
level.

Temperature and insulation

F class (155°C) insulation system and temperature
rise class B (80K) are adopted to the motor, which
increase the motor useful life and reliability.

Cooling and ventilation

The standard cooling method is totally Enclosed Fan
Cooled (TEFC) in accordance with IC411 of IEC
60034-6. Standard motors are equipped with centrifuge
plastic fans.

Protection class

The standard protection degree of motor is IP55,
which make moist and dusty condition is also allowable.
Higher degree of protection is also available according to
customer’s requirement.

Motor protection

The protection and measurement equipment to
Winding and bearing such as PTC, PT100 are available on
request.

Voltage and frequency

Standard voltage and frequency is 380V/ 50HZ,
special value on voltage and frequency is available on
request. The motors will operate satisfactorily with varia-
tions of £5% from the rated voltage.

Vibration

Standard vibration class is A during no- load condi-
tion; higher vibration class B is available on request.

Quality assurance

Stringent quality procedures are observed from first
design to finished products in accordance with ISO9001

documented quality systems.

«04




LIERSESENERROBRAT

SHANDONG HUALI ELECTRIC MOTOR GROUP CO.,LTD.

N ;ﬁ*ﬁ;& Technical Data N ;i*ﬁ&;& Technical Data

=11k fod ; =11k fod :
2i%-EE551E3000r/min 50Hz A% - [E1E45%E1500r/min 50Hz
2pole-3000 rpm synchronous speed 50Hz 4pole-1500 rpm synchronous speed 50Hz
ME ZE ME |ME J|WE J|E IR RE i BA B BE oe == ME E ME JWE J|WE T|E X ME BE BA B B o ==
e S < < < o 2% LT} HE e < < < < o § 1L BHe
e IE Bk B R R R GE B R B RR o e B = R R R R R GE RS R SRR o e
ted IFL IFL IFL IFL ted N E JUIS) A E i ted IFL IFL IFL IFL ted A E JUNS) JUN=S H
motor type  qutput 380V 400V 415V 525V Bactor torque B5E FEsn Eagy Mofl level WT('ght motor type  output 380V 400V 415V 525V Bactor torque BtkE GEsh Eagg Mofl level Wight
kW A A A A N.m TST/TRL TM/TFL IST/IFL Kgm? g K9 kW A A A A N.m TST/TIL TM/TFL IST/IFL Kgm? ggay K9
HM3-80M1-2 | 075 | 2855 | 17 | 16 | 16 | 12 |807%| 082 | 25 | 23 | 23 | 70 |0001 | 62 | 17 HM3-80M1-4 | 055 | 1400 | 14 | 13 | 13 | 10 |808% 075 | 38 | 24 | 23 | 66 (0003 | 56 | 13
HM3-80M2-2 | 11 | 2855 | 24 | 23 | 22 | 18 |827%| 083 | 37 | 22 | 23 | 76 |0002| 62 | 19 HM3-80M2-4 | 075 | 1400 | 18 | 1.7 | 17 | 13 |825%| 075 | 50 | 23 | 23 | 66 |0003| 56 | 16
HM3-905-2 15 | 2875 | 32 | 31 | 30 | 23 |842%| 084 | 50 | 22 | 23 | 79 |oo002| 67 | 20 HM3-905-4 11 | 1425 | 26 | 25 | 24 | 19 |841%| 076 | 73 | 23 | 23 | 68 |0004| 59 | 18
HM3-90L-2 22 | 2875 | 46 | 43 | 42 | 33 |859%| 085 | 73 | 22 | 23 | 79 |0003| 67 | 25 HM3-90L-4 15 | 1425 35 | 33 | 32 | 25 |853%| 077 | 100 | 23 | 23 7 10005 | 59 | 26
HM3-100L-2 3 2880 | 6.0 57 55 44 |871%| 087 99 22 23 85 |0.006 74 35 HM3-100L1-4 2.2 1440 | 48 4.5 44 34 |86.7% | 0.81 14.6 23 23 76 |0012 64 35
HM3-112M-2 | 4 | 2900 | 7.8 | 74 | 72 | 57 |881%| 088 | 132 | 22 | 23 | 85 (0009 | 77 | 40 e | Y| Y 68 BU | A 4B ers] Ge | R 25 2y | de (Ole | b A
HM3-13251-2 | 55 | 2900 | 106 | 101 | 97 | 7.7 |892%| 0.88 | 181 | 2 | 23 | 85 [0.024 | 79 | 60 HM3-112M-4 | 4 | 1450 | 84 | 79 | 77 | 61 |886%| 082 | 263 | 22 | 23 | 78 |0022 | 65 | 45
HM3-13252-2 | 75 | 2900 | 144 | 137 | 132 | 104 |901%| 088 | 247 | 2 | 23 | 85 (0029 | 79 | 65 HM3-1325-4 | 55 | 1455 | 112 | 107 | 103 | 81 896%) 083 | 360 | 2 | 23 | 79 10060 | 71 | 65
- - 0,
HM3-160M1-2| 11 | 2940 | 206 | 196 | 189 | 149 |912%| 089 | 357 | 2 | 23 | 85 |0067 | 81 | 110 HM3-132M-4 | 75 | 1455 | 150 | 143 | 137 | 109 |904%] 084 | 431 | 2 | 23 | 75 |0071 | 71 | 75
- - 0,
e teomzzl 15 | 2940 | 279 | 265 | 255 | 202 |919% | 085 | 87 | 2 | 23 | 85 |ooso | &1 | 120 HM3-160M-4 | 11 | 1465 | 215 | 204 | 197 | 156 |914% | 085 | 712 | 22 | 23 | 77 0137 | 73 | 115
HM3-160L-4 | 15 | 1465 | 288 | 27.3 | 263 | 208 |921% | 086 | 971 | 22 | 23 | 78 |0171| 73 | 130
HM3-160L-2 | 185 | 2940 | 342 | 325 | 313 | 247 |924%| 089 | 601 | 2 | 23 | 85 |0097 | 81 | 135 >
HM3-180M-4 | 185 | 1470 | 353 | 335 | 323 | 255 |926%| 086 | 1198 | 2 | 23 | 78 |0238 | 76 | 175
HM3-180M-2 | 22 | 2955 | 405 | 385 | 37.1 | 293 |927%| 089 | 711 | 2 | 23 | 85 [0137 | 83 | 170
HM3-180L-4 | 22 | 1475 | 418 | 397 | 383 | 303 |93.0% 086 |1424| 2 | 23 | 78 |0259 | 76 | 200
HM3-200L1-2 | 30 | 2965 | 549 | 521 | 503 | 397 |933% 089 | 966 | 2 | 23 | 85 |0227 | 84 | 230
HM3-200L-4 | 30 | 1475 | 566 | 53.8 | 519 | 410 |936% 086 [1942| 2 | 23 | 73 |0459 | 76 | 250
HM3-2002-2 | 37 | 2965 | 674 | 640 | 61.7 | 488 |937%| 089 [1192| 2 | 23 | 85 |0269 | 84 | 240
HM3-2255-4 | 37 | 1480 | 696 | 66.1 | 637 | 504 |939%| 086 | 2388 | 2 | 23 | 74 |0656| 78 | 295
HM3-225M-2 | 45 | 2970 | 808 | 768 | 740 | 585 |940%| 09 |1447| 2 | 23 | 80 |0360 | 86 | 300
HM3-225M-4 | 45 | 1480 | 844 | 802 | 773 | 61.1 |942% | 086 (2904 | 2 | 23 | 74 |0758 | 78 | 325
HM3-250M-2 | 55 | 2975 | 985 | 935 | 902 | 713 |943%| 09 [1766| 2 | 23 | 80 |0791 | 89 | 400
HM3-250M-4 | 55 | 1480 | 1027 | 97.6 | 941 | 743 |946% | 086 3549 | 22 | 23 | 74 |1078 | 79 | 420
HM3-2805-2 | 75 | 2975 | 1337 |127.0 | 1224 | 968 |947%| 09 |2408 | 18 | 23 | 75 |0960 | 91 | 520
HM3-2805-4 | 75 | 1485 | 1363 |[129.5 |124.8 | 987 |950% 088 (4823 | 2 | 23 | 69 |1800 | 80 | 535
HM3-280M-2 | 90 | 2975 | 1599 |151.9 | 1464 |1158 |950%| 09 [2889| 18 | 23 | 75 |1157 | 91 | 575
HM3-280M-4 | 90 | 1485 | 1632 | 155.1 | 1495 | 1181 |952% | 088 |[5788 | 2 | 23 | 69 |2130| 80 | 615
HM3-3155-2 | 110 | 2980 | 195.1 | 1853 | 1786 |141.2 |952%| 09 |3525| 18 | 23 | 75 [1662 | 92 | 890
HM3-3155-4 | 110 | 1485 | 196.8 | 187.0 | 180.2 | 1425 |954% | 089 |7074| 2 | 22 7 3415 | 88 | 850
- - (o)
HM3-315M-2 | 132 | 2980 | 233.6 | 2219 | 2139 [169.1 |954% | 09 [4230| 18 | 23 | 75 |1874| 92 | 970 V33154 | 132 | 1485 | 2357 | 2239 | 2158 | 1706 | 95.6% | 085 | 8489 | 2 | 22 > 3807 | 88 | 940
- - 0,
HM3-315L1-2 | 160 | 2980 | 279.4 | 265.5 | 2559 2023 |956% | 091 |5128 | 18 | 23 | 75 |2146 | 92 | 1070 3315014 | 160 | 1485 | 2851 | 2709 | 2614 | 2064 |958% | 089 10290l 2 | 22 | 71 13423 | ss | 1020
HM3-315L-2 | 185 | 2980 | 322.8 |306.6 | 2955 |233.6 |957% | 091 |[5929 | 18 | 22 | 75 |2481 | 92 | 1100 HM3315L4 | 185 | 1485 | 3293 | 3129 | 3016 | 2384 |95.9% | 089 1118971 2 | 22 | 71 |3958 | 88 | 1090
HM3-315L2-2 | 200 | 2980 | 3486 |331.1 |319.2 | 2523 |958% | 091 | 6409 | 18 | 22 | 75 |2448 | 92 | 1130 HM3-31512-4 | 200 | 1485 | 3517 | 334.1 | 3220 | 2546 | 96.0%| 09 |12862| 20 | 22 | 7.1 |5262 | 88 | 1160
HM3-355M2-2| 250 2980 | 435.7 [ 4139 | 399.0 |3154 |958% | 091 | 8012 | 16 2.2 7.2 3.800 | 100 | 1620 HM3-355M2-4| 250 | 1490 | 4396 |417.7 | 4026 |3182 196.0% | 09 (16023 20 22 6.9 92 95 1750
HM3-355L1-2 | 280 | 2980 | 488.0 |463.6 |446.8 |353.2 |958% | 091 [8973 | 16 2.2 72 |4449 | 100 | 1720 HM3-355L1-4 | 280 | 1490 | 4924 | 467.8 | 4509 |3564 |96.0%| 09 |17946| 2.0 22 6.9 99 95 | 1860
HM3-35502-2 | 315 | 2980 | 549.0 |521.5 | 502.7 |397.4 |958% | 091 [10095| 16 | 22 | 72 4820 | 100 | 1830 HM3-35502-4 | 315 | 1490 | 553.9 |526.2 | 507.2 | 4009 |96.0% | 09 (20190 20 | 22 | 69 | 102 | 95 | 1920
HM3-3551-2 | 355 | 2980 | 618.7 | 587.8 | 566.5 |447.8 |958% | 091 [11376| 16 | 22 | 72 |5200 | 104 | 2150 HM3-3551-4 | 355 | 1490 | 6243 |593.1 |571.6 (4519 |960% | 09 [22753| 17 | 22 | 65 | 114 | 102 | 2375
HM3-3552-2 | 375 | 2980 | 653.6 | 6209 | 5985 |473.1 |958%| 091 [1201.7| 16 | 22 | 72 |5500 | 104 |2280 HM3-3552-4 | 375 | 1490 | 6744 |640.7 | 617.6 | 4882 | 96.0% | 0.88 [24035| 17 | 22 | 65 | 128 | 102 | 2420

05» «06




LIERSESENERROBRAT

SHANDONG HUALI ELECTRIC MOTOR GROUP CO.,LTD.

N ;i*%ﬂ;& Technical Data A ;i*i&;& Technical Data

61%-FEHEiE1000r/min 50Hz 8tk- 4 EEiE750r/min 50Hz
6pole-1000 rpm synchronous speed 50Hz 8pole-750 rpm synchronous speed 50Hz
prmray gremrey preemray preay gy g B = - prren ey peren pe—— e ey e = -
motor type JSESSt srsgee% 360y 400v  aTSv  sosv Bactor troartqege Eg% gg% ?'%ﬁ% M of | weight motor type JSESﬂt et t[,arﬁqelfe Eg% %ﬁ% %u% M of | weight
kW rpm A A A A cosq N.m TST/TFL TM/TFL IST/IFL kgm? kg kW N.m TST/TFL TM/TFL IST/IFL kgm? kg
HM3-80M1-6 | 0.37 | 895 1.1 1 1 0.79 |735% | 0.7 39 19 2 6 |0.0033| 54 14 HM3-80M1-8 | 0.18 | 630 | 0.76 | 0.73 | 0.70 | 0.55 | 0.587 | 0.61 | 2.73 1.8 1.9 52 10.0023| 52 16
HM3-80M2-6 | 0.55 | 895 1.5 14 14 11 |77.2% | 0.72 5.8 1.9 2.1 6 [0.0037| 54 16 HM3-80M2-8 | 0.25 | 630 | 0.97 | 092 | 0.89 | 0.70 |0.641 | 0.61 | 3.79 1.8 1.9 57 0.00291 52 18
HM3-90S-6 0.75 | 935 20 1.9 1.9 1.5 |789% | 0.71 7.6 20 2.1 6 0.004 57 21 HM3-90S-8 037 | 660 | 133 | 1.26 | 1.22 | 096 | 0.693 | 0.61 | 5.35 1.8 1.9 6.2 | 0.004 | 56 24
HM3-90L-6 1.1 940 2.8 2.7 2.6 20 |81.0%| 073 | 11.2 | 20 2.1 6 0.006 57 24 HM3-90L-8 055 | 660 | 188 | 1.78 | 1.72 | 1.36 | 0.73 | 0.61 | 7.96 1.8 2 59 |0.006 | 56 28
HM3-100L-6 1.5 945 38 36 35 27 |825%| 0.73 | 15.1 2.0 2.1 6.5 |0.016 61 35 HM3-100L1-8 | 0.75 | 690 23 2.2 2.1 1.6 |750%| 067 | 104 1.8 20 6.2 |0.008 59 30
HM3-112M-6 2.2 950 54 5.1 49 39 |843%| 074 | 221 2.0 2.1 6.6 |0.039 65 40 HM3-100L2-8 1.1 690 3.1 3.0 29 23 |77.7%| 069 | 15.2 1.8 20 6.2 |0.010 59 35
HM3-132S-6 3 960 7.2 6.8 6.6 52 |856%| 074 | 29.7 | 20 2.1 6.8 |0.035 69 56 HM3-112M-8 1.5 690 | 4.1 39 37 30 |79.7%| 0.70 | 208 1.8 20 6.7 |0.017 61 40
HM3-132M1-6| 4 960 9.5 9.0 8.7 68 |86.8%| 074 | 396 | 20 2.1 6.8 |0.043 69 66 HM3-132S-8 2.2 710 5.7 55 53 42 [81.9% | 0.71 29.6 1.8 20 6.7 |0.031 64 55
HM3-132M2-6| 5.5 960 | 127 | 120 | 116 92 |88.0%| 075 | 544 | 20 2.1 7 0.056 69 76 HM3-132M-8 3 710 75 71 6.8 54 |835%| 0.73 | 404 1.8 20 6.9 |0.040 64 65
HM3-160M-6 7.5 970 | 162 | 154 | 148 | 11.7 |89.1%| 0.79 | 735 | 20 2.1 7 0.140 73 110 HM3-160M1-8| 4 720 9.8 9.3 9.0 7.1 |84.8%| 0.73 | 534 1.9 20 6.9 |0.075 68 95
HM3-160L-6 11 970 | 231 | 220 | 212 | 167 |903%| 0.8 |107.7 | 20 2.1 72 |0.192 73 134 HM3-160M2-8| 5.5 720 | 131 | 124 | 120 95 |86.2%| 0.74 | 735 1.9 20 6.9 |0.093 68 115
HM3-180L-6 15 975 | 309 | 293 | 282 | 223 |91.2%| 0.81 | 1469 | 20 2.1 73 |0.319 73 176 HM3-160L-8 7.5 720 | 174 | 165 | 159 | 126 |873%| 0.75 |100.2 | 1.9 20 6.6 |0.126 68 125
HM3-200L1-6 | 185 | 975 | 378 | 36.0 | 347 | 274 |91.7% | 0.81 | 1812 | 20 2.1 73 | 0446 73 223 HM3-180L-8 11 730 | 252 | 239 | 230 | 182 |88.6% | 0.75 | 1439 2 20 6.6 |0.203 70 180
HM3-200L2-6 22 975 | 448 | 425 | 410 | 324 |922% | 081 | 2155 | 2.0 2.1 74 |0.557 73 234 HM3-200L-8 15 730 | 335 | 318 | 306 | 242 |89.6%| 0.76 | 194.9 2 20 6.8 |0.339 73 220
HM3-225M-6 30 985 | 59.1 | 56.2 | 54.1 | 428 |92.9% | 0.83 | 2909 | 2.0 2.1 69 |0.832 74 285 HM3-225S-8 185 | 730 | 410 | 39.0 | 376 | 297 |190.1%| 0.76 | 2404 | 19 20 6.8 | 0491 73 260
HM3-250M-6 37 985 | 71.7 | 68.1 | 65.7 | 519 |933% | 0.84 | 358.7 | 2.0 2.1 71 | 1.447 76 380 HM3-225M-8 22 740 | 473 | 449 | 433 | 342 |90.6%| 0.78 | 2859 | 19 20 7 0.547 73 290
HM3-280S-6 45 985 | 858 | 81.6 | 786 | 62.1 |93.7%| 0.85 | 4363 | 20 20 73 | 2252 78 460 HM3-250M-8 30 740 | 632 | 60.0 | 579 | 457 |913%| 0.79 |3872 | 19 20 6.7 |0.830 75 380
HM3-280M-6 55 985 (1033 | 981 | 946 | 747 |941% | 0.86 |533.2 | 20 20 73 | 2726 78 510 HM3-280S-8 37 740 | 775 | 736 | 71.0 | 561 |91.8% | 0.79 | 4775 | 19 20 6.7 |1.390 76 490
HM3-315S-6 75 990 | 1434 |136.2 [131.3 [ 103.8 |94.6% | 084 | 7235 | 2.0 20 6.6 |3.984 83 760 HM3-280M-8 45 740 | 939 | 89.2 | 86.0 | 679 |922%| 0.79 |580.7 | 19 20 6.7 |1.650 76 530
HM3-315M-6 90 990 | 169.5 | 161.0 | 155.2 |122.7 |94.9% | 0.85 |868.2 | 2.0 20 6.7 |4.500 83 920 HM3-315S-8 55 740 (1115 | 1060 [ 102.1 | 80.7 |925% | 0.81 | 7098 | 1.8 20 6.8 |4.790 82 770
HM3-315L1-6 | 110 | 990 |206.8 | 196.4 | 189.3 | 149.7 |95.1% | 0.85 |1061.1| 2.0 20 6.7 |5.607 83 | 1010 HM3-315M-8 75 740 | 151.1 | 1436 | 1384 | 1094 | 931%| 0.81 | 9679 | 1.8 20 6.3 |5.580 82 900
HM3-315L2-6 | 132 990 | 2445 | 2322 (2238 [176.9 |954% | 0.86 [1273.3| 2.0 2.0 6.8 |6.935 83 | 1110 HM3-315L1-8 90 740 |[178.5 | 169.6 | 163.5 | 1292 | 934% | 0.82 |1161.5| 1.8 20 64 |6.370 82 960
HM3-355M1-6| 160 | 990 |295.7 | 2809 |270.7 | 214.0 |95.6% | 0.86 |1543.4| 1.8 2.0 6.7 10.5 85 1600 HM3-315L2-8 | 110 740 |217.5 |206.6 | 199.2 | 1574 | 93.7% | 0.82 |1419.6| 1.8 20 64 |7.230 82 | 1060
HM3-355M-6 | 185 | 990 | 3415 |324.5 |312.7 | 247.2 |95.7% | 0.86 |1784.6| 1.8 2.0 6.8 11.9 85 1680 HM3-355M1-8| 132 740 |260.2 |247.2 | 2383 | 1883 |94.0%| 082 | 1704 | 1.6 20 54 | 1173 | 90 | 1680
HM3-355M2-6| 200 | 990 |364.6 | 346.4 |333.8 |263.9 |95.8% | 0.87 [1929.3| 1.8 20 6.8 129 85 1730 HM3-355M-8 | 160 740 | 3144 |298.7 |2879 | 2276 | 943% | 082 | 2066 | 1.6 20 54 11248 | 90 | 1760
HM3-355L1-6 | 220 | 990 |401.1 | 381.0 |367.2 |290.3 |95.8%  0.87 |21222| 1.8 20 6.8 134 85 1810 HM3-355L1-8 | 185 740 |363.5 |345.3 (3329 |263.1 |943%| 082 | 2388 | 1.6 20 54 |1286| 90 | 1850
HM3-355L2-6 | 250 | 990 |455.7 |433.0 |417.3 |329.9 |95.8% | 0.87 |2411.6| 1.8 20 6.8 139 85 1960 HM3-3552-8 | 200 740 |387.0 | 367.7 | 3544 | 280.1 | 94.6% | 0.83 | 2582 | 1.6 20 54 |1385| 90 | 1990
HM3-3551-6 280 | 990 |510.4 | 4849 | 4674 |369.5 |95.8% | 0.87 |2701.0| 1.8 2.0 6.8 14.3 91 2350 HM3-3551-8 220 | 740 | 425.7 | 4044 | 389.8 | 308.1 |94.6% | 0.83 | 2839 | 1.6 20 54 | 1423 | 90 | 2380
HM3-3552-6 315 | 990 |574.2 | 5455 | 5258 |415.6 |95.8% | 0.87 |30386| 1.8 2.0 6.8 14.8 91 2440 HM3-3552-8 250 740 |483.8 |459.6 [443.0 | 3502 |94.6% | 083 | 3226 | 1.6 20 54 |1485| 90 | 2430

07> «08




LIERSESENERROBRAT

SHANDONG HUALI ELECTRIC MOTOR GROUP CO.,LTD.

G GD H HA HD K KK

80M | 2-8 (125 34 [160|175|140| 51 | 100130 50 | 19 | M6X16 | 40 |22 | 6 |155| 6 |80 | 10 [230| 10 |M24X15] 295 | 106
90S | 2-8 /140 | 36 180 (190 [150 | 60 [ 100|135 | 56 | 24 | M8X19 [50 |32 | 8 |20 | 7 | 90 |125255| 10 [M24X15| 318 126
9L [2-8[140| 36 | 180|190 [150 | 60 | 125|160 | 56 | 24 | M8X19 |50 [32 | 8 |20 | 7 | 90 [12.5/255| 10 |M24X15| 343 | 126
100L | 2-8|160 | 40 [200 | 215|160 | 60 140|182 63 | 28 |M10X22| 60 |40 | 8 |24 | 7 |100| 14 |270| 12 |M24X15| 381 | 142
112M | 2-8190 | 45 | 230 | 236 185 | 75 (140|195 | 70 | 28 |M10X22| 60 |40 | 8 |24 | 7 [112] 14 |307| 12 | M30X2 | 399 | 144
1325 | 2-8|216| 52 | 265|275 | 205 | 75 | 140|205 | 89 | 38 |M12X28| 80 | 56 | 10 |33 | 8 |132| 16 |347| 12 | M30X2 | 474 | 169
132M | 2-8 |216 | 52 | 265 | 275|205 | 75 | 178|245 | 89 | 38 |M12x28|80 |56 | 10 | 33 | 8 [132| 16 |347| 12 | M30X2 | 512 | 169
160M | 2 |254| 67 |320 /330|250 | 95 | 210|260 | 108 | 42 |M16X36(110 |80 | 12 | 37 | 8 |160| 19 |425|145| M36X2 |613.5| 270
160M | 4-8 |254 | 67 {320|330 (250 | 95 | 210|260 | 108 | 42 |M16X36(110 |80 | 12 | 37 | 8 [160| 19 |425|145| M36X2 |601.5| 270
160L | 2 |254| 67 320 /330|250 | 95 | 254|305 108 | 42 |M16X36(110 (80 | 12 | 37 | 8 |160| 19 [425|145| M36X2 |657.5|270
160L | 4-8 | 254 | 67 (320 330|250 | 95 | 254 305|108 | 42 |M16X36|110| 80 |12 |37 | 8 |160| 19 425 |145| M36X2 |6455| 270
180M | 2 |279| 74 {350 |380 | 270 | 95 | 241|297 | 121 | 48 |M16X36(110 | 80 | 14 |[425| 9 [180| 22 |460|145| M36X2 | 683 | 277
180M | 4 [279| 74 350|380 |270 | 95 | 241|297 | 121 | 48 |M16X36(110 | 80 | 14 [425| 9 [180| 22 |460|145| M36X2 | 671 | 277
180L | 4-8|279| 74 [350 380|270 | 95 | 279|325 | 121| 48 |M16X36|110| 80 | 14 |425| 9 |180| 22 |460 |145| M36X2 | 709 | 277
200L | 2 318 75 395|420 325|120 |305 370|133 | 55 |M20X42|110 | 80 | 16 | 49 |10 |200 | 25 |515|185| M48X2 | 781 | 298
200L | 4-8 318 75 395|420 | 325|120 |305 370 133 | 55 |M20X42110 | 80 | 16 | 49 |10 |200| 25 |515|185| M48X2 | 762 | 298
2255 | 4-8 356 | 80 | 436 | 465 335 | 120 | 286 | 355 | 149 | 60 |M20X42(140 [100 | 18 | 53 | 11 [225 | 28 |560|185| M48X2 | 815 |340
225M | 2 [356| 80 |436 (465|335 (120|311 380|149 | 55 [M20X42|110 |80 | 16 | 49 | 10 |225 | 28 |560 185 M48X2 | 821 |310
225M | 4-8 356 | 80 |436 | 465|335 (120 | 311|380 | 149 | 60 |M20X42(140 [100 | 18 | 53 | 11 225 | 28 |560|18.5| M48X2 | 840 |340
250M | 2 1406 | 88 |495 |520 (370|160 | 349 | 440 | 168 | 60 |M20X42(140 100 | 18 | 53 | 11 [250| 33 |620| 24 | M64X2 | 935 | 360
250M | 4-8 {406 | 88 |495 (520|370 | 160 | 349 | 440 | 168 | 65 |M20X42(140 [100 | 18 | 58 | 11 [250| 33 |620| 24 | M64X2 | 925 |360

280S | 2 |457|100 | 550|570 395|160 | 368 [495| 190 | 65 |M20X42|140 (100 | 18 | 58 | 11 |280 | 35 {685 | 24 | M64X2 | 965 | 350
280S | 4-8 |457 | 100 | 550 | 570 | 395 | 160 | 368 [ 495 | 190 | 75 |M20X42|140 (100 | 20 [67.5| 12 |280 | 35 (685 | 24 | M64X2 | 969 | 350
280M | 2 |457 (100|550 570|395 | 160|419 535|190 | 65 [M20X42|140 100 18 | 58 | 11 {280 | 35 |685| 24 | M64X2 | 1005 | 350
280M | 4-8 | 457 [ 100 | 550 | 570 | 395 | 160 [ 419|535 | 190 | 75 |M20X42|140|100 | 20 |67.5| 12 {280 | 35 |685| 24 | M64X2 | 1009 | 350
315S | 2 |508 | 120 | 635 | 650 | 495 | 195 | 406 515|216 | 65 |M20X42|140 (100 | 18 | 58 | 11 |315| 45 (820 | 28 | M64X2 | 1145|387
315M | 2 |508 |120 | 635|650 | 495 | 195 | 457 | 625 | 216 | 65 |M20X42|140 (100 | 18 | 58 | 11 [315| 45 |820| 28 | M64X2 | 1255|387
315L | 2 |508 |120 | 635|650 | 495 | 195 | 508 | 625 | 216 | 65 |M20X42|140 100 | 18 | 58 | 11 [315| 45 |820| 28 | M64X2 | 1255|387
315S | 4-8 |508 | 120 | 635 | 650 | 495 | 195 | 406 | 515|216 | 80 |M20X42|170 (130 |22 | 71 | 14 |315| 45 {820 | 28 | M64X2 | 1190|417
315M | 4-8 | 508 | 120 | 635 | 650 | 495 | 195 | 457 | 625 | 216 | 80 [M20X42(170 (130 | 22 | 71 | 14 |315| 45 |820| 28 | M64X2 | 1300|417
315L | 4-8 | 508 [ 120 | 635 | 650 | 495 | 195 | 508 | 625 | 216 | 80 |M20X42|170 130 | 22 | 71 | 14 |315| 45 |820| 28 | M64X2 | 1300|417
355M | 2 | 610 |125|735 735|640 | 260 | 560 | 775 | 254 | 75 |M24X50(140|110| 20 |67.5| 12 355 | 49 (1000, 28 | M72X2 | 1500|415
355L | 2 | 610 (125|735 |735|640 260|630 775|254 | 75 |M24X50{140 |110| 20 |67.5| 12 |355| 49 [1000| 28 | M72X2 | 1500 | 415
355M | 4-8 | 610 | 125 | 735 | 735 | 640 | 260 | 560 | 775 | 254 | 95 [M24X50(170 |140 | 25 | 86 | 14 |355| 49 [1000| 28 | M72X2 | 1530 | 445
355L |4-8 610 (125|735 |735|640 |260 | 630 | 775|254 | 95 |M24X50(170 |140 | 25 | 86 | 14 |355| 49 [1000| 28 | M72X2 | 1530 | 445
355LM<| 2 | 610|125 | 735|735 [ 640 | 260 | 630 | 875 | 254 | 75 |M24X50(140 |110 | 20 [67.5| 12 |355| 49 [1000| 28 | M72X2 | 1600|415
355LfM| 4-8 | 610 | 125 | 735 | 735 | 640 | 260 | 630 | 875 | 254 | 95 |M24X50(170 |140 | 25 | 86 | 14 [355| 49 [1000| 28 | M72X2 | 1630 | 445
E 1 EPDHECAN ARSI OF, RIS EIN L AURSEL.

The 'DH’' defaults to a non-threaded center hole and it can be machined into a threaded hole as required.
O 9 $ 2.80-132HEEHILR T AZE+5,160-355HESHILR T AE S, « 1 0
The dimension of ‘L' with tolerance %5 for frame 80-132,tolerance +8 for frame 160-355.
SACRLRIABEAIMNERT, BAUSLEAIMNZE I,
AC and L dimensions are the maximum external dimensions, and the details are subject to the confirmed drawings.

HM3-315~355




LIERSESENERROBRAT

SHANDONG HUALI ELECTRIC MOTOR GROUP CO.,LTD.

N B3 59 I‘HZ&&%E? Dimensions Foot-Flange Mount B35

HIEES 75 A AA AB AC*AD' AG B F GGDHHAHD K ¥ LALG M N P
80M |2-8|125| 34 [160/175/140| 51 100(130/ 50 | 19 | M6X16 |40 |22 | 6 [155 6 |80 |10 |230| 10 |295| 12 |106/165/130200| 12 |3.5|M24x15
905 |2-8/140| 36 180|190|150| 60 [100]135| 56 | 24 | M8X19| 50 | 32| 8 | 20| 7 | 90 125255 | 10 | 318| 12 |126|165|130|200| 12 |3.5|M24x15
90L [2-8|140| 36 |180|190|150| 60 |125(160| 56 | 24 | M8X19| 50 | 32| 8 | 20| 7 | 90 [12:5/255 | 10 | 343| 12 [126/165|130|200| 12 |3.5|M24x15
100L |2-8/160| 40 [200{215|160| 60 |140/182| 63 | 28 | M10X22| 60 | 40 | 8 |24 | 7 [100| 14 [270 | 12 | 381| 14 |142|215/180|250(14.5 4 |M24X15
112M [2-8|190| 45 |230| 236|185 75 |140{195| 70 | 28 |M10X22| 60 | 40| 8 | 24| 7 [112] 14|307 | 12 |399| 14 |141|215(180| 250|145 4 | M30X2
1325 |2-8/216| 52 |265(275|205| 75 [140|205| 89 | 38 | M12428| 80 | 56 | 10 |33 | 8 [132| 16 {347 | 12 |474| 14 |169|265(230(300(14.5] 4 | M30K2
132M [2-8|216/ 52 |265|275(205 75 |178|245| 89 | 38 |M12x28| 80 | 56 | 10| 33 | 8 [132| 16 |347 | 12 |512| 14 |169|265|230|300[14.5 4 | M30X2
160M | 2 |254| 67 |320|330|250| 95 |210|260|108| 42 |M16X36110] 80 | 12| 37| 8 |160| 19 |425 [145 /6135 15 |270|300|250|350[18.5] 5 | M36X2
160M |4-8|254| 67 |320|330|250| 95 |210|260|108| 42 |M16X36|110] 80 | 12| 37| 8 |160| 19 |425 |145/6015] 15 |270|300|250|350[18.5] 5 | M36X2
”””””” R o o 160L | 2 |254| 67 [320(330|250| 95 |254(305/108| 42 | M16X36(110] 80 | 12 | 37 | 8 |160| 19 |425 | 14516575 15 |270|300|250|350/18.5 5 | M36X2
L _ AG 160L |4-8|254| 67 [320/330|250| 95 |254(305/108| 42 | M16X36|110| 80 | 12 |37 | 8 |160| 19 |425 |1456455 15 |270/300/250|350/18.5 5 | M36X2
180M | 2 |279| 74 350|380(270| 95 |241|297|121| 48 |M16X36|110| 80 | 14 [42.5| 9 |180| 22 |460 [145| 683 | 15 |277|300|250|350[18.5] 5 | M36X2
; . " 180M | 4 |279) 74 350|380(270| 95 |241|297|121| 48 |M16X36|110| 80 | 14 [42.5 9 |180| 22 |460 [145| 671| 15 |277|300|250|350[18.5] 5 | M36X2
&0 2 u i 180L |4-8/279| 74 350|380(270| 95 |279/325(121| 48 | M16X36/110| 80 | 14 1425 9 |180| 22 460 |145| 709 | 15 [277/300/250|350[18.5 5 | M36X2
ol * 200L | 2 |318| 85 |395|420/325120|305|370(133 55 | M20X42|110| 80 | 16 | 49 | 10 [200| 25 |515 185|781 | 17 [298(350(300(400[18.5| 5 | Masx2
. 200L |4-8/318| 85 |395(420/325/120|305(370|133 55 | M20X42|110| 80 | 16 | 49 | 10 [200| 25 |515 185|762 | 17 [298(350(300(400[18.5| 5 | Masx2
s 2255 |4-8/356/ 80 |436|465|335|120/286|355|149| 60 | M20¥42|140(100| 18 | 53 | 11 |225| 28 |560 /185|815 | 19 [340(400(350(450(18.5| 5 | Masx2
e T AL \ S s ‘M 225M | 2 [356| 80 |436|465|335|120(311/380|149| 55 |M20X42110| 80 | 16 | 49 | 10 |225| 28 | 560 |185| 821 | 19 |310|400|350|450[18.5] 5 | MésX2
e — B 225M |4-8|356/ 80 |436(465|335|120(311/380| 149| 60 |M20X42 140/100| 18 | 53 | 11 |225| 28 | 560 |185| 840| 19 |340|400|350|450[18.5) 5 | M4gX2
L 250M | 2 |406| 88 |495|520|370|160(349|440| 168| 60 |M20X42140/100| 18 | 53 | 11 |250| 33 |620 | 24 | 935| 20 |360|500|450|550(18.5] 5 | Mé4x2
— 250M |4-8|406| 88 |495|520|370|160(349|440| 168| 65 |M20X42(140/100| 18 | 58 | 11 |250| 33 |620 | 24 | 925| 20 |360|500|450|550[18.5] 5 | Mé4x2
s 2805 | 2 |457/100|550|570|395|160/368|495|190| 65 | M20¥42|140(100| 18 | 58 | 11 |280| 35 |685 | 24 | 965 | 22 [350(500(450(550(18.5| 5 | M64x2
M 2805 |4-8457100|550|570|395|160/368|495|190| 75 | M20¥42|140|100| 20 |67.5| 12 |280| 35 685 | 24 | 969 | 22 350(500(450(550(18.5| 5 | M64x2
. . 280M | 2 |457|100/550|570|395|160(419|535|190| 65 |M20X42]140/100| 18 | 58 | 11 |280| 35 | 685 | 24 |1005| 22 |350|500|450|550(18.5] 5 | Me4x2
B - 280M |4-8|457|100550|570|395|160(419|535|190| 75 |M20X42]140/100| 20 (67.5 12 |280| 35 | 685 | 24 [1009| 22 |350|500|450|550(18.5] 5 | Me4x2
. 3155 | 2 |508)120|635|650(495|195406|515(216| 65 | M20¥42|140(100| 18 | 58 | 11 |315| 45 |820 | 28 [1145| 24 387|600(550(660/ 24 | 6 | M64X2
4 - 315M | 2 [508|1201635|650|495|195(457625|216| 65 |M20X42140/100| 18 | 58 | 11 |315| 45 |820 | 28 |1255| 24 |387|600|550|660| 24 | 6 | Me4x2
| " o 3151 | 2 |508|120|635|650/495195|508|625(216/ 65 | M20X42|140(100| 18 | 58 | 11 315| 45 [820 | 28 [1255| 24 |387|600(550(660| 24 | 6 | M64x2
3155 | 4-8/508|120|635/650|495|195 406|515/216| 80 |M20¥42|170[130] 22 | 71 | 14 |315| 45 |820 | 28 |1190| 24 |417|600(550|660| 24 | 6 | M64x2
315M |4-8|508|120/635|650/495(195(457|625(216/ 80 | M20X42(170(130| 22 | 71 | 14 315/ 45 |820 | 28 [1300| 24 |417|600|550(660| 24 | 6 | M6AX2
3151 |4-8(508)120|635650|495|195 508(625/216| 80 | M20X42|170130| 22 | 71 | 14 |315| 45 |820| 28 |1300 24 |417|600(550|660| 24 | 6 | M64x2
355M | 2 |610|125735(735/640|260(560|775|254| 75 |M24X50|140|110| 20 (67.5) 12 |355| 49 [1000| 28 |1500] 25 |415|740|680|800| 24 | 6 | M72X2
3551 | 2 |610]125/735735|640|260|630(775/254| 75 | M24X50|140|110| 20 |67.5( 12 |355| 49 1000 28 |1500] 25 |415|740(680|800| 24 | 6 | MT22
355M |4-8|610|125/735|735640|260(560| 775(254| 95 | M24X50{ 170|140/ 25 | 86 | 14 355/ 49 [1000| 28 [1530| 25 |445|740|680(800| 24 | 6 | MT2X2
) 3550 |4-8|610]125|735/735|640(260|630|775/254| 95 | M24X50|170/140| 25 | 86 | 14 |355| 49 1000 28 |1530] 25 |445|740(680|800| 24 | 6 | MT22
355LAMK 2 |610|125(735|735|640|260|630(875|254| 75 | M24X50|140|110| 20 67.5) 12 |355| 49 1000| 28 |1600| 25 415|740|680|800| 24 | 6 | M72X2
355LA11H 4-8|610|125|735| 735640/ 260| 630|875(254 95 | M24X50|170|140| 25 | 86 | 14 355 49 1000 28 [1630| 25 |445|740|680(800| 24 | 6 | M72K2
E1EHRRRIE N0, The 'R dimensions is zero.
2 EFRDHER AN AL, RIS T gL

The '‘DH’' defaults to a non-threaded center hole and it can be machined into a threaded hole as required.
11> 3.80-132H|EEEHILRTHAE +5,160-355HIEESHILR T AE 8, «12
The dimension of ‘L' with tolerance +5 for frame 80-132,tolerance +8 for frame 160-355.
4ACRLRI AERINERYT, BEAIUHELAAINEE .

AC and L dimensions are the maximum external dimensions, and the details are subject to the confirmed drawings.




LIERSESENERROBRAT

SHANDONG HUALI ELECTRIC MOTOR GROUP CO.,LTD.

N B5&V1 9 HB&E%%ETI Dimensions Flange Mount B5&V'1

& AC* D AD G GD LA IG M
80M | 2-8 [175| 19 | 150 | 140 | 51 | M6X16 |40 | 22 | 6 |155| 6 | 12 | 106 | 165|130 200 | 12 | 3.5 | M24X15 | 295 | -
90S [2-8|190| 24 | 165|150 | 60 | M8X19 |50 |32 | 8 |20 | 7 | 12 |126|165| 130|200 | 12 | 3.5 | M24X15 | 318 | -
9L |2-8|190| 24 | 165|150 | 60 | M8X19 |50 |32 | 8 |20 | 7 | 12 |126|165|130(200| 12 | 3.5 | M24X15 | 343 | -
100L |2-8 |215| 28 | 170 (160 | 60 | M10X22 | 60 | 40 | 8 | 24 | 7 | 14 | 142|215 180 | 250 | 14.5 M24X15 | 381 | -
112M | 2-8 | 236 | 28 | 195|185 | 75 | M10X22 | 60 | 40 | 8 | 24 | 7 | 14 | 144|215| 180|250 | 14,5 M30X2 | 399 | -
132S | 2-8 | 275| 38 | 215|205 | 75 | M12X28 | 80 | 56 | 10 | 33 | 8 | 14 | 169 | 265 | 230 | 300 | 14.5 M30X2 | 474 | -
132M | 2-8 |275| 38 | 215|205 | 75 | M12X28 | 80 | 56 | 10 | 33 | 8 | 14 | 169 | 265 | 230 | 300 | 14.5 M30X2 | 512 | -
160M | 2 |330| 42 | 265|250 | 95 | M16X36 | 110 | 80 | 12 | 37 | 8 | 15 | 270|300 | 250 | 350 | 18.5 M36X2 | 613.5|658.5
160M | 4-8 | 330 | 42 | 265|250 | 95 | M16X36 | 110 | 80 | 12 | 37 | 8 | 15 | 270|300 | 250 | 350 | 18.5 M36X2 | 601.5 | 646.5
160L 2 [330| 42 | 265|250 | 95 | M16X36 (110 | 80 | 12 | 37 | 8 | 15 | 270|300 | 250 | 350 | 18.5 M36X2 | 657.5|702.5
160L |4-8 [ 330 | 42 | 265|250 | 95 | M16X36 | 110 | 80 | 12 | 37 | 8 | 15 | 270|300 | 250 | 350 | 18.5 M36X2 | 645.5|690.5
180M | 2 |380| 48 | 280|270 | 95 | M16X36 | 110 | 80 | 14 |425| 9 | 15 | 277|300 | 250 | 350 | 18.5 M36X2 | 683 | 728
180M | 4 |380| 48 | 280|270 | 95 | M16X36 | 110 | 80 | 14 |425| 9 | 15 | 277|300 | 250 | 350 | 18.5 M36X2 | 671 | 716
180L |4-8 [380 | 48 | 280 (270 | 95 | M16X36 | 110 | 80 | 14 |425| 9 | 15 | 277|300 | 250 | 350 | 18,5 M36X2 | 709 | 754
200L 2 |420| 55 | 315|325 | 120 | M20X42 [110 | 80 | 16 | 49 | 10 | 17 | 298 | 350 | 300 | 400 | 18.5 m48x2 | 781 | 856

M48X2 | 762 | 837

M48x2 | 815 | 890

m48x2 | 821 | 896

M48X2 | 840 | 915

M64X2 | 935 | 1010
Me4X2 | 925 | 1016
M64X2 | 965 | 1050
M64X2 | 969 | 1054
M64X2 | 1005 | 1090
M64X2 | 1009 | 1094
M64X2 | 1145 | 1230
M64X2 | 1255 | 1340
M64X2 | 1255 | 1340
M64X2 | 1190 | 1281
M64X2 | 1300 | 1391
M64X2 | 1300 | 1391
M72X2 | 1500 | 1600
M72X2 | 1500 | 1600
M72X2 | 1530 | 1630
M72X2 | 1530 | 1630
M72X2 | 1600 | 1700
M72X2 | 1630 | 1730

200L | 4-8 | 420 | 55 315 325|120 | M20X42 (110 | 80 | 16 | 49 | 10 | 17 |298 | 350 | 300 | 400 | 18.5
2255 | 4-8 | 465| 60 | 335|335 120 | M20X42 |140 (100 | 18 | 53 | 11 | 19 | 340 | 400 | 350 | 450 |18.5
225M 2 |465| 55 335|335 (120 | M20X42 (110 | 80 | 16 | 49 | 10 | 19 | 310 |400 | 350 | 450 |18.5
225M | 4-8 | 465 | 60 | 335|335 | 120 | M20X42 |140 (100 | 18 | 53 | 11 | 19 | 340 | 400 | 350 | 450 | 18.5
250M 2 | 520 | 60 | 375|370 | 160 | M20X42 |140 | 100 | 18 | 53 | 11 | 20 | 360 | 500 | 450 | 550 | 18.5
250M | 4-8 | 520 | 65 | 375|370 | 160 | M20X42 |140 (100 | 18 | 58 | 11 | 20 | 360 | 500 | 450 | 550 | 18.5
280S 2 | 570 | 65 | 395|400 | 160 | M20X42 |140 | 100 | 18 | 58 | 11 | 22 | 350 | 500 | 450 | 550 | 18.5
280S | 4-8 | 570 | 75 |395|400 | 160 | M20X42 | 140|100 | 20 |67.5| 12 | 22 |350 | 500 | 450 | 550 | 18.5
280M 2 | 570 | 65 | 395|400 | 160 | M20X42 |140 | 100 | 18 | 58 | 11 | 22 | 350 | 500 | 450 | 550 |18.5
280M | 4-8 | 570 | 75 | 395|400 | 160 | M20X42 |140 (100 | 20 |67.5| 12 | 22 | 350 | 500 | 450 | 550 | 18.5
315S 2 | 650 | 65 | 500|495 | 195| M20X42 |140 100 | 18 | 58 | 11 | 24 | 387 | 600 | 550 | 660 | 24
315M 2 | 650 | 65 | 500|495 | 195| M20X42 |140 100 | 18 | 58 | 11 | 24 | 387|600 | 550 | 660 | 24
315L 2 | 650 | 65 | 500|495 | 195| M20X42 |140 100 | 18 | 58 | 11 | 24 | 387 | 600 | 550 | 660 | 24
3155 | 4-8 | 650 | 80 |500 |495 | 195| M20X42 | 170 (130 | 22 | 71 | 14 | 24 |417 | 600 | 550 | 660 | 24
315M | 4-8 | 650 | 80 | 500 (495 | 195| M20X42 170 (130 | 22 | 71 | 14 | 24 | 417 | 600 | 550 | 660 | 24
315L | 4-8 | 650 | 80 | 500 | 495 | 195 | M20X42 170|130 | 22 | 71 | 14 | 24 | 417 | 600 | 550 | 660 | 24
355M(VT)| 2 |735| 75 | 645 | 645 | 260 | M24X50 | 140 | 110 | 20 |67.5| 12 | 25 | 415|740 | 680 | 800 | 24
355L(V1) | 2 | 735| 75 | 645 |645 | 260 | M24X50 |140 (110 | 20 |67.5| 12 | 25 | 415|740 | 680 | 800 | 24
355M(V1) | 4-8 | 735 | 95 | 645 | 645 | 260 | M24X50 | 170 | 140 | 25 | 86 | 14 | 25 | 445|740 | 680 | 800 | 24
355L(V1) [ 4-8 | 735| 95 | 645 645 | 260 | M24X50 170 (140 | 25 | 86 | 14 | 25 | 445 740|680 | 800 | 24
355LfM< | 2 | 735| 75 | 640 | 645 | 260 | M24X50 | 140 | 110 | 20 |67.5| 12 | 25 |415 | 740 | 680 | 800 | 24
355LfM< | 4-8 | 735 | 95 | 640 | 645 | 260 | M24X50 | 170|140 | 25 |67.5| 14 | 25 | 445|740 | 680 | 800 | 24
1. EFRRIEYA0, The 'R dimensions is zero.
2 EFDHEUAARNHIRSEIROFL, AIHRERE NN T AEREL.
The ‘DH’ defaults to a non-threaded center hole and it can be machined into a threaded hole as required.
13» 3.80-132H1EEERILFILMR A Z+5,160-355HEESRILFILMR T AZ £ 8, «14
The dimensionof ‘L' and ‘LM’ with tolerance +5 for frame 80-132,tolerance +8 for frame 160-355.

AACRLRT ISEAINERT, BRSLABAINZE 9.

AC and L dimensions are the maximum external dimensions, and the details are subject to the confirmed drawings.

HM3-225~280

HM3-315~355

o2 T @ ) W e > TN I > W e > W @ N A > N A > W @ > W A > W ' > W e W N R @ T O T O 5 I O I O O L L O O O B O I O B O O B Y S Y ) N S N




RSB ER RO BIRAE]

SHANDONG HUALI ELECTRIC MOTOR GROUP CO. LTD.

N 3551 29#%&5%’5)?? Mounting Dimensions 35512 N %EE&%%B#FHﬂﬂﬁ Arrangement And Parts List

HM3 80~132FRAME

Zégmq:%w Parts Description %ﬁgﬁ*@iﬁﬁﬂ Specifications standard construction
SEEN s S Cast iron frame,terminal box.
1 IR BT Endshield D.E. M EXE Pressed steel fan cowl.
Lu.li B .
> s Wave washer b e Cast iron endshields.
BRAIEIIRT XS Polypropylene,glass reinforced fan.
3 Xz Bearing D.E. EEH & iR Equivalent bearings.

=+
¢ meam Terminal box

BENRITEEN=RFSIEC60072 | Dimensions and ratings to IEC60072

5 TEFEE Stator lamination pack GB/T4772.1-4772.3 GB/TA772.1-47723
6 EEP N Rotor lamination pack IPS5 P55
EREEEmE Top mounted terminal box.
7 HUEE Frame L ET]90°EE Terminalbox rotates in 90 deg
8 E [ I Bearing N.D.E. BAEIAICA11 Cooling 1C411
9 3'55@{:}]17%}7%% Endshield N.D.E. B3-EI‘E€F§H£D'§E"§ B3-foot mounted
10 e o B5-Epzl iz ZeaE B5-flange mounted-horizontal.
B35-[kpIMEZ LA B35-foot And flange mounted
11 X.&= Fan cowl V1-3a NG LeaE V1-flang mounted-vertical

5% |H|||I- |||HH @
HUES: & A |AA|AB AC*/AD' | B1|B2 BB C |D | DH* | E G |GD|H |[HA|HD| K |LA| L* |[LM* LGIM [N | P | S |T |

Frame
35512 | 2 |630/140/760|760/630/630/800(1110 224 80 M20X42 170/ 140/ 22 | 71 | 14 |355| 49 |950| 35 | 28 |1850/1950 545 /840/780/900| 24 | 6 M72*2 —_—t - — = ——— e — - -

35512 | 4-8 1630140 760|760 630|630 800 1110 224|110 M24X50 210|160 28 | 100 16 [355/ 49 |950| 35 | 28 |1940 2040 585/840/780(900| 24 | 6 |M72*2

71 EFRDHERAARHIZSEIFROFL, SIRIEEEIN T ARIESEL. )
The ‘DH’ defaults to a non-threaded center hole and it can be machined into a threaded hole as required.
2EFLFILMR I RE 8,
The dimension of ‘L' and ‘LM’ with tolerance +8.
3ACRLRIIBAINERT, EUISLEEAINE . i 1 =

AC and L dimensions are the maximum external dimensions, and the details are subject to the confirmed drawings.

15» €16




AY %EE&S?B{#Hﬂﬂi Arrangement And Parts List

HM3 160~280FRAME

O 00 N o U b~ W N =

- A A a A
v A W N =2 O

17>

%F%%B{’—'F% ffj_( Parts Description

IXENimidAI S
R AEE
XahiminEs

IR TR

IR EiRIHAN
e

TR
HFEHS

HEE

e[ e RS
e[ e i

3 FOX )i i

e[ e S
X3

M=

© 0O

Outer bearing cap D.E.
Wave washer
Endshield D.E.

Bearing D.E.

Inner bearing cap D.E.
Terminal box

Stator lamination pack
Rotor lamination pack
Frame

Inner bearing cap N.D.E.
Bearing N.D.E.
Endshield N.D.E.

Outer bearing cap N.D.E.

Fan

Fan cowl

ONGLO)

EZK@E*@'LEEB Specifications standard construction

BN ZRA R
R EXE
58kl
RRIEBIRT NS
FEALE PR

BRI EEL AT EIEC60072

GB/T4772.1-4772.3
IP55

E&ErELm
E&R 0905
RHE7EICAT1

B3-EPERiIZE
B5-Eris s
B35-EiISZ &%
V-3

Cast iron frame,terminal box.
Pressed steel fan cowl.

Cast iron endshields.
Polypropylene,glass reinforced fan.

Equivalent bearings.

Dimensions and ratings to IEC60072
GB/T4772.1-4772.3

IP55

Top mounted terminal box.
Terminalbox rotates in 90 deg
Cooling IC411

ﬁ% Mounting

B3-foot mounted

B5-flange mounted-horizontal.

B35-foot And flange mounted

V1-flang mounted-vertical

QJONORONONONOROX®)

LIFRESENERRHOBRAT

SHANDONG HUALI ELECTRIC MOTOR GROUP CO.,LTD.

A %EE&S%K{#HEﬂﬁ Arrangement And Parts List

HM3 315~355FRAME

—_

© 00 N o U A W N

%@%M’—'F% ffj_( Parts Description

Cast iron frame,terminal box.
Pressed steel fan cowl.

Cast iron endshields.
Polypropylene,glass reinforced fan.

Equivalent bearings.

Dimensions and ratings to IEC60072
GB/T4772.1-4772.3

IP55

Top mounted terminal box.
Terminalbox rotates in 90 deg
Cooling IC411

ﬁ% Mounting

B3-foot mounted

B35-foot And flange mounted

V1-flang mounted-vertical

_— - : SHER LR
G O.uter bearing cap D.E. R R
IXzhimFE AR Flinger D.E. ki

s i
aimim s Endshield D.E S TS
IS Bearing D.E. | P
IRFNiAHARE | Inner bearing cap DEE.

ﬁ%ﬁ%ﬁ Terminal box WTLR?*D@%EBJ%H@IECGOOD
EFEHS Stator lamination pack. GB/TA772.1-4772.3
iR ) Rotor lamination pack. IP55
HLEE Frame AT P
IEIRENIHEAMAMEE | Inner bearing cap N.D.E. B AT90°hEkE
E 2SR i S Bearing N.DE. SIS RICAT
JFIR B Endshield N.D.E.
IFRzNimFEIMA | Flinger N.DE. B3-ErURHIZs
JEIRENIwAHASNE | Outer bearing cap N.D.E.
" Herbeanng cop B35 EEMIn e
X3 Fan
XE Fan cowl VARVE: VL §-e
D @) G I 5 b ( @
9
@/ / T 9
T e
T 71 —
Mmoo
L [ ||
N —— l‘ o ]
2= i —H - [

«18



N BBRZELR Degrees of Protection(IEC 600034-5)

B—IHF
First numeral

=
1 =
Designation

19»

IP55

IP56

IP65

P66

B3 LEE R SN PRI BB A B LE A PRl P EBROTER
EevaEivel

Protection against contact and ingree of foreign
bodies, protection against hazardous” live”
parts and moving mechanical parts.

5. BARESEEMIEREHN, BEHLEREURM
FHIERZIT. sERLEA N SR FE Bk a]
#D.

Ingree of dust is not totally prevented, but dust
shall not interfere with the satisfactory opera-
tion of equipment. A probe of Tmm diameter
shall not penetrate the enclosure.

6. 5T FHLEREHANT.

No ingress of dust.
B>  Dust protected
B54d> Dust protected
422 Dust tight

4% Dust tight

BT

Second numeral

BFzk

Protection against water

5 (AT ERIBK ISR LNTTE ERISE.
Water projected in jets against the enclosure
from any direction will have no harmful effects.

6.38 /KRB N TSR E5.
Water projected in power jets shall have no
harmful effects.

FiamEzK Jetting water
FasE oMk Powerful Jetting
FiamEzK Jetting water

FasE oMk Powerful Jetting

N E%’Eﬁ!:‘:c Mounting Arrangements

EhaCR 223

Foot mig horiz

B3 ;
IM1001 Eﬁf‘

H80~ 3656 -~

B6
IM1051
H80 ~ 160

B7
IM1061
H80 ~ 160

SN\ .
B8 |
IM1071 E[E
H80 ~ 160 !

MG &
Flange mig

B5
IM3001
H80 ~ 280

Vi
IM3011
H80 ~ 355

V3
IM3031
H80 ~ 160

A o
Foot/Flange mig

B35
IM2001
H80 ~ 355

V15
IM2011
H80 ~ 160

V36
IM2031
H80 ~ 160

LIFRESENERRHOBRAT

SHANDONG HUALI ELECTRIC MOTOR GROUP CO.,LTD.

SRR %5
Foot mig vert

V5

IM1011 !
H80 ~ 160

G
IM1031
H80 ~ 160

Yz

Star Connection

w2 U2 V2

ut Vi1 Wi

—O1

AE

Delta Connection

Uz V2
V1o (W1
L2 LS

Y- A EEiERE

Star-Delta Connection

111 L12] L13

L21 22 L23

«20




LIERSESENERROBRAT

SHANDONG HUALI ELECTRIC MOTOR GROUP CO.,LTD.

N J:Hjﬁ;&ﬁﬁ Top Terminal Box A" 1%&&%&% Side Terminal Box

HM3-112~132 HM3-160~225
D@G

J

==
@‘Lw
S

m
el , ) ¥ 4%
== 4
==
A (
T 1
A C

HM3-315 HM3-355

A "’ i
G -
G - - $ - .
i 0 ‘ I N |
® E-—{’ni e, 1T || g
Al o 1 N :
gL ugd q i
e | bz
| //2,7// 1
@ﬁ% — e g I
A c A ©
A

HLEES frame BURY | HEAER HLEES frame BURY | HEAER
Gland Size outlet(dia.) Gland Size outlet(dia.)

HM3-80 105 105 65 M5X16 | M5X25 | M5X16 | M5X12 M4 M24X1.5 11 HM3-80 95 95 56 M5X16 | M5X25 | M5X16 | M5X12 M4 M24X1.5 11
HM3-90 ~ 100 113 113 72 M5X16 = M5X25  M5X16 | M5X12 M4 M24X1.5 11 HM3-90 ~ 100 105 109 56 M5X16 = M5X25  M5X16 | M5X12 M4 M24X1.5 P11
HM3-112~132 121 129 80 M5X16 « M5X25 | M5X20 | M5X16 M5 2XM30X2 2XP15 HM3-112~132 117 125 65 M5X16 = M5X25 | M5X20 | M5X16 M5 2XM30X2 2XP15
HM3-160 ~ 180 163 173 92 M6X16 = M6X25  M6X16 | M6X12 M6 2XM36X2 2X®25 HM3-160 ~ 180 155 177 87 M6X16 = M6X25  M6X16 | M6X12 M6 2XM36X2 2XD25
HM3-200 ~ 225 188 208 107 M8x25 | M8x35 | M8x25 | M8x16 M8 2XM48x2 2XP36 HM3-200 ~ 225 176 212 107 M6X20 = M8X35 | M8X20 | M8X16 M8 2XM48X2 2XP36
HM3-250 ~ 280 217 246 120 M8x25 = M8x35 = M8x25 & M8x16 M10 2XM64x2 2XP51 HM3-250 ~ 280 212 248 115 M6X20 = M8X35 | M8X30 | M8x16 M10 = 2XM64x2 2XP51
HM3-315 280 320 165 M10x25 M10x45 M10x30 M10x20 M12 2XM64x2 2XD51 HM3-315 276 332 164 M8x25 | M10x45 | M10x30  M10x20 | M12 | 2XM64x2 2XD51
HM3-355 350 475 285 M12X30 M12X80 M12X30 M10X25 & M20 | 2XM72X2 2X®52 HM3-355 340 410 275 M8X30 M12X40 M12X30 M10X25 M20 | 2XM72X2 2X®52

21 «22




LIERSESENERROBRAT

SHANDONG HUALI ELECTRIC MOTOR GROUP CO.,LTD.

l'h:l:j-* NE 2%. . .. Em 5“":I:j-* N 3% . ..
Y| EEE‘ . OEY ﬂ:li], Bearing- Seal & Lubrication A 7?‘ . TR [I,Ii] 18 Bearing- Seal & Lubrication
EE[* = Al EYiT] = o BRVE N} D E fot BV U R N D E ;Hﬂiﬁ%
NES i JEGH{ERR y 5 . FEELS Ixzfim (D.E.) IFakamim (N.D.E.) e o
Motor type DE NDE Motor type B B oil seal data
)
HM3-80 620477 620477 20 47 14 HM3-80 5 5 _
HM3-90 620577 620577 25 52 15 :mgj’go gg gg g §(5) gg ;
HM3-100 620627 620627 30 62 16 bR 3R HM3-112 30 52 7 30 52 7 L
HM3-112 630622 630622 30 72 19 bearing data :mglgg ig gé g 2(5) gé g
HM3-132 630827 630827 40 90 23 . HM3-180 55 75 8 o 75 8
HM3-160 6309 6309 45 100 25 HM3-200 60 80 8 60 80 8
HM3-180 6311 6311 55 120 29 mgggg gg 3(5) 18 3(5) 3(5) 18
HM3-200 6312 6312 60 130 31 HM3-280-2 =0 o 10 70 % 10 ©|e
HM3-225 6313 6313 65 140 33 HM3-280-4.6.8 85 110 12 85 110 12
HM3-250 6314 6314 70 150 35 HM3 3152 80 100 10 80 100 10
HM3-315-4.6.8 95 120 12 95 120 12
HM3-280 2P 6314 6314 70 150 35 HMB3-3552 95 120 P 9% 120 P
HM3-280 4-8P 6317 6317 85 180 41 HM3-355-4.6.8 110 140 12 110 140 12 1.
- HM3-35512(2P) 95 120 12 95 120 12
HM3-315 2P 6316 6316 80 170 39 a -| —f-—-—-- HM3-35512(4-8P) 120 150 12 120 150 12
HM3-315 4-8P 6319 6319 95 200 45
HM3-355(2P) (B3.B35) 6319 6319 95 200 45
HM3-355(2P)V' 6319 7319 9 200 e o BB T TRGRRTIEAT, MACRRC3HM,
HM3-355(4-8P) (B3,B35) 6322 6322 110 240 50 Motors are equipped with bearings from excellent manufacturers.In general the bearings have C3 clearances.
HM3-355(4-68)V1 6322 7322 110 240 50 * 80~ 1324 EESEE R AE S A4,
FIV-35512(2F) (83,835) 0319/¢3 o319/C3 % 2% - * mgtggsﬁﬁlﬁ;@#zfég;tte{ﬁ_w;;%%;éggz R B RER RS RRTINE, LAERRAR S
~ SERH1 HEERF T E D RS T R RHE B RER B RCE AR AT, L FRIREIFERE R,
AlUEREDIACRE) (FRhEEs) | U2 SE 112 260 > ’ Motors of frame sizes 160-355 are fitted with open bearings and regreasing device. Depending on the useful life of
HM3-35512(2P) V1 6319C3 7319 95 200 45 grease,open bearings must be regreased in good time so that the scheduled bearing service life is reached.
HM3-35512(4-8P) V1 NU324 7324 110 260 55 T RO HARR . -
A ELS e e {4, 70 Q of grease
Oo1o Pe DE Bea g DE Bea g op { g .o.-... .o ..‘ D€ g DE
600 800 00 g
SR HM3-160 6309 6309 6000 10000 16000 13
= SHETHIAR _— HM3-180 6311 6311 4000 9000 14000 15
ﬁt&ﬁ;g ’Eﬂ Sealj';?fz':'e T W Angoi sea HM3-200 6312 6312 3500 | 6500 | 11000 20
HM3-80 RB20x35x4.0 20 35 3 6 HM3-225 6313 6313 3000 5500 8500 22
T HM3-250 6314 6314 2000 5000 8000 23
HM3-90 RB25x40x4.0 ®25 @40 3 6
HM3-100 RB30x47x4.5 ®30 47 35 6.5 HM3-280 2P 6314 6314 1200 . . 30
- - : HM3-280 4-8P 6317 6317 = 4000 6000 35
HM3-112 RB30x47x4.5 ®30 47 3.5 6.5 HM3-315 2P 6316 6316 1200 ) i 30
HM3-132 RB40x57x4.5 40 57 35 6.5
HM3-315 4-8P 6319 6319 = 2000 3000 45
HM3-160 RB45x62x4.5 @45 P62 3.5 6.5 oo HM3-355(2P) (B3.835) 6319 6319 B i i 30
HM3-180 RB55x75x5.5 @55 P75 4.5 6.5 -
HM3-355(2P)V1 6319 7319 1200 - - 30
HM3-200 RB60x80x5.5 60 ®80 4.5 6.5
HM3-355(4-8P) (B3,B35) 6322 6322 - 1400 2200 60
HM3-225 RBOSXB5XS.> BES | 085 45 8 HM3-355(4-8P)V1 6322 7322 - 1400 | 2200 60
HM3-250 RB70x90x5.5 @70 ®90 4.5 8
HM3-35512(2P) (B3,B35) 6319/C3 6319/C3 1200 - - 30
HM3-280-2 RB70x90x5.5 70 ®90 45 8 L
HM3-35512(4-8P) (B3,B35) NU324 6324 = 1200 2000 80
HM3-280-4.6.8 RB85x105x5.5 ®85 105 4.5 8
HM3-35512(2P) V1 6319C3 7319 1200 - - 30
HM3-315-2 RB80x100x5.5 080 ®100 4.5 8 HM3-35512(4-8P) V1 NU324 7324 = 1200 2000 80
HM3-315-4.6.8 RB95x115x5.5 ®95 ®115 4.5 8 L] v
- 1. SR EEFHRILE RIS AL R EIREN AT —,

Vertical motors should be greased twice as often as horizontal motors.
2. R TIREEBII70°C B, BINRINEBAEN0ET BIRLZ4EE.
Regreasing time should be reduced if bearing operating temperature is in excess of 70°C.

23» «24




N IEF aall 2|:| Main Product Introduction

YE3RFI=18R L (H80-355)

YEARFI=1ER 2, (H80-355)

YESRFI=1ER 25 (H80-355)
YE3RFISEERHEAN L S (H80-355)
Y-HZFIRER=1EF 28 (H63-355)
YDZFIE R ZiE=18% 2R (H80-315)
YDTRFEN RS E=E R (H80- 315)
YVRZFIZSRE= 185 BaHl (H80- 355)
YHEFIEHREX=1ER DB (H80-315)
Y-WRFIFSME=1ER i (H80-355)
YTRFR BN =R %EWL (H80-132)
1L(P23)RFI=HER & HEAH(H160-355)

Y(IP23) Z5I=1E5CEBaMH (H400-500)
YZSZFIEER =R 2 (H160-225)
YEJRFIEBRE s =1 R0 saH (H80- 225)
YBK3ZRFUES H T FlRISEL =1E R0 el (H80-355)
HM3ZFI =188, (H80-355)

HMAZFI =18 5R:5 8, (H80-355)

YB2-H. YB3-HZFIMEMRIEE=1ER SR (H80-355)
YBBPRS IR R =15 Bal(H80-355)
YBX3RF B RIRE =R HaH(H80-355)
YBXARS SR RIREL = 1R B fH (H80-355)
YBXS RSB RERIR IR R = 1HR BB EH(H80-355)
YFB3ZF R IREL = 1B RS REH (HBO0-355)
YFBARFUMHLIHIREE = 1R B (H80-355)
YFBSR G L IHIER = {BR S B (H80-355)
Y3ZFI=tER:08 M (H355-450)

YRS E=AESS B (H355- 800)
YKKRF IR E=1E5% A, (H355-800)
Y2RFIBE=AER B (H355- 560)
YXZSSHEE=ER LB, (6KV, H355-630)
YXZSISHEE=ER LB (10KV, H400-630)
YRES B L F =R R, (H355-1000)
YRKKZRFI B ELek it 7= S aH (H355-1000)
YFSSRFINR R N1 &EEH (H450-630)
YFWKZFIURF & (H500)

25»

YE3 Series 3-Phase Asynchronous Motor

YE4 Series 3-Phase Asynchronous Motor

YE5 Series 3-Phase Asynchronous Motor

YE3 Series Special Motor for Smoke and Heat Exhaust Ventilators
Y-H Series 3-Phase Asynchronous Motor In Ships

YD Series 3-Phase Multi-Speed Motor

YDT Series Ventilator used 3-Phase Multi-Speed Motor

YVF2 Series Frequency Control 3-Phase Asynchronous Motor

YH Series High Slip 3-Phase Asynchronous Motor

Y-W Series Outdoor used 3-Phase Asynchronous Motor

YT Series Ventilator used 3-Phase Asynchronous Motor

1L(IP23) Series 3-Phase Asynchronous Motor

Y(IP23) Series 3-Phase Asynchronous Motor

YZS Series Crane 3-Phase Asynchronous Motor

YEJ Series Electromagnetic Braking 3-Phase Asynchronous Motor
YBK3 Series Flameproof 3-Phase Asynchronous Motor for Coal Mines
HM3 Series 3-Phase Asynchronous Motor

HM4 Series 3-Phase Asynchronous Motor

YB2-H, YB3-H Series Flameproof 3-Phase Asynchronous Motor For Ships
YBBP Series Flameproof Frequency Control 3-Phase Asynchronous Motor
YBX3 Series High Efficiency Flameproof 3-Phase Asynchronous Motor
YBX4 Series High Efficiency Flameproof 3-Phase Asynchronous Motor
YBX5 Series High Efficiency Flameproof 3-Phase Asynchronous Motor
YFB3 Series Dust Explosion-Proof 3-Phase Asynchronous Motor

YFB4 Series Dust Explosion-Proof 3-Phase Asynchronous Motor

YFB5 Series Dust Explosion-Proof 3-Phase Asynchronous Motor

Y3 Series 3-Phase Asynchronous Motor

Y Series High-Voltage 3-Phase Asynchronous Motor

YKK Series High-Voltage 3-Phase Asynchronous Motor

Y2 Series High-Voltage 3-Phase Asynchronous Motor

YX Series High Efficiency High-Voltage 3-Phase Asynchronous Motor
YR Series High-Voltage 3-Phase Wound Rotor Asynchronous Motor
YRKK Series High-Voltage 3-Phase Wound Rotor Asynchronous Motor
YFSS Series Doubly Fed Induction Windmill Generator

YFWK Series Doubly Fed Induction Windmill Generator

LIFRESENERROBRAT

SHANDONG HUALI ELECTRIC MOTOR GROUP CO. LTD.

A\ gpé{'ﬁ Cooperative Partner

€« BUHLER

ATRAINES

DAH 'NGLI

CRUN

i) ALTENDOR |

e,

Hisense

[/

Howden

)
~ ENVISION

bt R EETR

UKER IR B

MOON-TECH

WEINIG

A EEF*CE

BEZE BnE

JESSUN

5 N s
FEN AYORK

BAODE
& .
V) = 5%
XIBEEA ZHANEG GU

WORLD GROUP

&5

FEA

XS \
REAFON GRUNDFOS'
e E ek

(\“ D B G TISCO ARSBREARAS M¢®

VI\ QAR LERREHERAT RGCmes

D
) R,
M AR R B

«26






